= O-I
A £ O & AF &2 F Ml A
20158 & = 0lah LB H &
AN 0 aE D
M o - ots=sKX &
Sl 04 MM K2 CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hegdad 142,417,817 139, 141,958 3,275,859
= 70,277,841
X 68,000
J| 1,990,737
< 42,855,725
Al 27,225,514
od - Ots=X 58 137,825,016 135,125,430 2,699,586
= 69,833,716
X 68,000
J| 1,060,008
< 42,437,989
Al 24,425,303
og 2 X 949,320 874,500 74,820
= 293,660
Xl 68,000
J| 16,800
S 365,130
Al 205,730
A 2 MOILE & UEEA 7,000 6,000 1,000
203 YR =&l 3,000 2,000 1,000
03 AIMF=XH R =AH| 3,000 2,000 1,000
O04d - 0ts - IIEZ0F FHF2 3,000
301 L2 A F 4,000 4,000 0
09 HALAHIE& S 4,000 4,000 0
ogAAdZH MOILE S DA 2,000
OHIZRA FAHALE Hd38 YW= 2,000
dF=A HEEHE2As 2EXA 9,300 9,300 0
307 gl2tol & 9,300 9,300 0
03 BIAHMNHE2IHIELS 9,300 9,300 0
OFFA HedHHMEAS 2SN 9,300
=2t DS @A 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
02 QIZtE M AHEE 10,000 10,000 0
Od==2t IS A 10,000
HEES Sus 15,000 15,000 0
307 21201 A 15,000 15,000 0
02 QIAHFAAHFEX 15,000 15,000 0
ONF U AL FHES 23D S 15,000
OEEN IASToAY 14,200 14,200 0
< 3,900
Al 10,300
307 gl2tol & 14,200 14,200 0
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2N

HeEAEN

M o - ots=sKX &
Sl 018 FE X8 o HE)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e 2

Al 15,000

02 QB LA EX 30,000 10,000 20,000
OWAZSINY SHIMEAL 30,000
S 15,000
Al 15,000

HaFgela Matuws 2 JIgH WERIA 25AY 10,000 10,000 0
< 5,000
Al 5,000

307 gl2tol & 10,000 10,000 0
< 5,000
Al 5,000

02 It M AHE L 10,000 10,000 0
OWAHYUA HME WS 5,000
= 2,500
Al 2,500
OJIZEH UWERKA 2atAd 5,000
< 2,500
Al 2,500

HSEAHA 2SHI 21,000 15,000 6,000
= 6,300
Al 14,700

307 21201 A 21,000 15,000 6,000
= 6,300
Al 14,700

02 It S AHE L 21,000 15,000 6,000
OFIEAHA ESHI 21,000
< 6,300
Al 14,700

HRLONENS Js52Y 20,500 0 20,500
< 20,500

402 RI2FX=01 M 20,500 0 20,500
< 20,500

01 It 2 AL E X 20,500 0 20,500
Ost=Rels MSXR JIsEL 20,500
< 20,500

YHES Y dEASEIIUSE 5,000 1,500 3,500
< 1,500
Al 3,500

201 L2l 5,000 1,500 3,500
< 1,500
Al 3,500

01 At 22l 5,000 1,500 3,500
OYHWS U HBIHIIILS 5,000
< 1,500
Al 3,500
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SH: OEEAED
2 04 - OlE=X A
S9l Ol8 HM X

=

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SIYEY MY ZZME 76,000 0 76,000
Xl 68,000
Al 8,000
307 2iz2to| & 76,000 0 76,000
Xl 68,000
Al 8,000
02 QIZIA AAIE E X 76,000 0 76,000
OstsAE HaYdXtel 483 Al 76,000
N 68,000
Al 8,000
MNIAUY =0 =39 5,000 0 5,000
201 et 5,000 0 5,000
01 AP 2t 2] H| 5,000 0 5,000
OZELWNE LA 1,500
OZE0 AIOIH RIERD=H 3,500
s 33 X 4,311,254 3,771,178 540,076
= 2,284,059
J| 34,960
& 607,111
Al 1,385,124
HAEEXAE B 270,000 240,000 30,000
= 243,000
& 18,900
Al 8,100
307 2iztol A 270,000 240,000 30,000
= 243,000
& 18,900
Al 8,100
11T AISIEXAIEEX 270,000 240,000 30,000
OAE=EX AL SSH (MAHI) 270,000
= 243,000
= 18,900
Al 8,100
SHERIIS MEtnNs A B4 3,600 3,600 0
301 et A= 3,600 3,600 0
09 HAIAHI BEAZ 3,600 3,600 0]
OStRER2IIE Mans AL B4 3,600
SIERIIE SXAIE 84K INEHEEEHB 27,000 27,000 0
== 4,050
Al 22,950
301 LBt A= 27,000 27,000 0
= 4,050
Al 22,950
01 AISIE & A 452 27,000 27,000 0
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FM: HEFEAE W
Hu: oM - OlS=X A
Sl JbE IH XS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEE RS EEEE 27,000
< 4,050
Al 22,950
SEEIE UNSSALAAT T=Y K 5,000 5,000 0
= 1,500
Al 3,500
307 21201 A 5,000 5,000 0
< 1,500
Al 3,500
01 92724l 5,000 5,000 0
OR2IIE AESAE 2% TI=H XN 5,000
< 1,500
Al 3,500
SHRR2IIE SXAE 22| 799,000 734,656 64,344
= 119,850
Al 679,150
307 gl2tol & 799,000 734,656 64,344
< 119,850
Al 679,150
10 ALl SXAIEEE 2 H EX 799,000 734,656 64,344
OS2It =XAE 22X 799,000
< 119,850
Al 679,150
SIRI2IE SXNAIE SN = 28,800 28,600 200
< 8,640
Al 20,160
307 21201 A 28,800 28,600 200
< 8,640
Al 20,160
10 ALSISXAIEEE2EHEX 28,800 28,600 200
OStREZINESXNANE SAX =& 28,800
< 8,640
Al 20,160
SRS SXAIE MU 2 &4 4,500 4,500 0
< 1,350
Al 3,150
307 21201 A 4,500 4,500 0
= 1,350
Al 3,150
11T AL SRAEE = 4,500 4,500 0
OSERIIE BESAIE MO 2EH| 4,500
< 1,350
Al 3,150
StREEIIE SEXAE s = X2 10,440 10,440 0
< 3,132
Al 7,308
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= HnH

2,627,414
1,824,909
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2,181,350

446,064
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2,627,414
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342,959
459,546

2,181,350

446,064
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©
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o
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o Mo = 0N

= M

2,627,414
2,473,694
1,731,585

296,843
445,266

70,200
49,140
21,060
63,120
44,184
18,936
20,400

6,120
14,280

2,181,350

446,064

ALIEXN2HEH 29

Z N W

167,300
83,650
33,460
50,190

163,900

3,400

307 glztol &
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167,300
83,650
33,460
50,190

163,900

3,400

1A SXAIE 2 =
5

OALIZXNEHE 2
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= M W

167,300
167,300

83,650
33,460
50,190

163,900
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FRIE SNAE 4% dEXFX
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9,000
3,600
5,400

23,232

Ab,232
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18,000

23,232

Ab5,232
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SHOEEAED
B 014 - OIS =X BF

Sl JtE FE X8 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

J| 9,000
< 3,600
Al 5,400

11T M3 SXASEEX 18,000 23,232 A5,232
OstREEIIE SXNAE g4 X d4E=XE 18,000
Jl 9,000
< 3,600
Al 5,400

Ol222FX A& 2EXE 50,000 49,000 1,000
J| 25,000
< 12,500
Al 12,500

307 gl2tol & 50,000 49,000 1,000
J| 25,000
< 12,500
Al 12,500

11T M SXASE EX 50,000 49,000 1,000
O0EEFXN HEIIZ 2EXH 50,000
J| 25,000
< 12,500
Al 12,500

IFEAS 2 XA 209,000 209,000 0
= 104,500
< 52,250
Al 52,250

307 glz2+ol & 209,000 209,000 0
= 104,500
= 52,250
Al 52,250

11T MISRASEX 209,000 209,000 0
oNsdEde 209,000
= 104,500
< 52,250
Al 52,250

SIRRIIE=RAE AR MAH XA 1,200 1,200 0
J| 960
< 120
Al 120

307 21201 A 1,200 1,200 0
J| 960
< 120
Al 120

11 AL SXAEE X 1,200 1,200 0
OBR2IEF=FXALE FAX dAHH X2 1,200
J| 960
< 120
Al 120
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SH: HEEAED
2 o4 OlE=N =3

Sl JtE FE X8 (S &2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
IIESZA0 & 20t UisH MY 40,000 40,000 0
= 28,000
< 4,800
Al 7,200
307 glz2tol & 40,000 40,000 0
= 28,000
< 4,800
Al 7,200
11T MISXASEEX 40,000 40,000 0
OJINEZFA0 ¥ BSF0tLsH AY 40,000
= 28,000
= 4,800
Al 7,200
JIESe ANEAdE JIsEZAY 50,000 0 50,000
402 RIZFXt20l ™ 50,000 0 50,000
01 A=A EX 50,000 0 50,000
ocl2ed & JINM 22 50,000
s - 4= o 785,873 728,235 57,638
= 4,985
J| 443,258
< 157,174
Al 180,456
oHd - 4238 HoHA 2=l 44,674 33,577 11,097
J| 31,273
< 6,700
Al 6,701
307 gl2tol & 44,674 33,577 11,097
J| 31,273
< 6,700
Al 6,701
01 =LA =4l 44,674 33,577 11,097
O = Lol X 2= bl 7,447
J| 5,213
= 1,117
Al 1,117
Od=4 Ioll A 2 =4l 37,227
J| 26,060
< 5,583
Al 5,584
IR =Y d=E548A 28X 307,820 295,959 11,861
J| 153,909
< 76,956
Al 76,955
307 21201 A 307,820 295,959 11,861
J| 153,909
< 76,956
Al 76,955
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D HAHAED
DA OlEE=X BT
DObE - A= oy

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
10 ALSISXAIEEE2GHEX 307,820 295,959 11,861
OJE=EHLEA 29| 140,090
9] 70,045
S 35,023
Al 35,022
o8g=g4aga 29| 167,730
J| 83,864
< 41,933
Al 41,933
INHE SEALNN 2SAE 2Y 215,476 210,576 4,900
J| 156,679
< 29,399
Al 29,398
307 21201 A 215,476 210,576 4,900
J| 156,679
< 29,399
Al 29,398
10 ALSISXAIEEE2EHEX 195,990 0 195,990
ONEEHINA ESAE 2| 88,759
J| 62,131
< 13,314
Al 13,314
O8=gIaiit ESAIE 24| 107,231
J| 75,062
< 16,085
Al 16,084
11T MISAASEX 19,486 210,576 A 191,090
ONE=HUNA ESAIE Bl=2 X 4AHHIX
2 11,262
J| 11,262
O4=5Iait 22AE =24 SN 8,224
J| 8,224
HEEY 4ZAHAN DFAZ 50,732 46,410 4,322
J| 35,513
< 7,610
Al 7,609
307 21201 A 50,732 46,410 4,322
J| 35,513
< 7,610
Al 7,609
11 ALS S RAEE = 50,732 46,410 4,322
ONE=ZZHAX wIEX=Z 41,378
J| 28,965
= 6,207
Al 6,206
OdZHAAXN WEX= 9,354
J| 6,548
< 1,403
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M e - ots=EX &

Sl OHE - 42 oY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 1,403
ZA0HHAE XZ23 ALY 70,069 70,069 0
J| 49,048
< 10,510
Al 10,511
307 glz2+ol & 70,069 70,069 0
J| 49,048
< 10,510
Al 10,511
11T MISXASEX 70,069 70,069 0
ONBELMH X3S ALY 44,287
J| 31,000
< 6,643
Al 6,644
O&=Z4IoHA X2 =AY 25,782
J| 18,048
< 3,867
Al 3,867
g - 428 e A3 1,500 1,500 0
301 et d = 1,500 1,500 0
09 HALAHIEAS 1,500 1,500 0
OJE - 429 g /34 1,500
HEZHLR SAA 1= 9,284 9,784 A 500
J| 4,642
< 2,321
Al 2,321
307 21201 A 9,284 9,784 A 500
J| 4,642
< 2,321
Al 2,321
11T MISXASEX 9,284 9,784 A 500
OWEEZHLX BAL B 9,284
J| 4,642
= 2,321
Al 2,321
OtstHdotd dFAIHN SHRE 7,200 7,200 0
J| 3,600
< 1,800
Al 1,800
201 Let249] 7,200 7,200 0
J| 3,600
< 1,800
Al 1,800
01 At 22/l 2,200 2,200 0
O0tsSHLetH MFAAN 2EXA 2,200
J| 1,100
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33,600
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= H
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10,800

OtSHEXE M A

=z N H

9,970
4,985
1,993
2,992

,000

A2,030

307 glztol &

= N H

9,970
4,985
1,993
2,992

,000

A2,030

1A SXAIE 2 =

OOtstEXE M=

= M W

9,970
9,970

4,085
1,993
2,992

,000

A2,030

hn X

Al

6,748
3,374
1,687
1,687

6,748

402 RI2FX=01 M
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6,748

3,374
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6,748
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M e - ots=EX &

Sl OHE - 42 oY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,687
01 QIZEXIE2AIE 2 X 6,748 0 6,748
ONZATIHA BESALE JsBELAY 6,748
J| 3,374
& 1,687
Al 1,687
IE=ZHT|lAF ESAE JIsEZAY 10,440 0 10,440
J| 5,220
& 2,610
Al 2,610
402 BI2H X 20| M 10,440 0 10,440
J| 5,220
= 2,610
Al 2,610
01 QIZEXIE2AIE 2 X 10,440 0 10,440
OB =Tl At ESAE JIsELAY 10,440
J| 5,220
& 2,610
Al 2,610
AOH0H XA 877,186 890,429 N 13,243
J| 564,990
& 151,098
Al 161,098
SOHOHEX W= 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
02 QIZ2IAAAIE E X 5,000 0 5,000
OSIHEX ens & 28 5,000
ASOHOHIIGH Kb 22K AFS 76,286 77,143 N 857
J| 54,000
= 11,143
Al 11,143
307 QI2t0| ™ 76,286 77,143 N 857
J| 54,000
= 11,143
Al 11,143
11T A EXAIEEX 76,286 77,143 N 857
OXSONOHIIGH Kb 2R KI&AFS 76,286
J| 54,000
& 11,143
Al 11,143
SOHOHIGH KF KIRAIE 29 147,700 150, 100 AN 2,400
J| 103,390
& 22,155
Al 22,155
307 2Iz2t0| & 147,700 150, 100 N 2,400
J| 103,390
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CodEAEn
S0y - os=sEX S8
© G OHON XA

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t

< 22,155
Al 22,155

11T MISRASEX 147,700 150, 100 A 2,400
OHSDHOHIIGH At XI&AAIE 29 147,700
J| 103,390
= 22,155
Al 22,155

SOHOHIIOH At &g 24H 137,200 139,480 A2,280
J| 68,600
< 34,300
Al 34,300

307 gl2tol & 137,200 139,480 A2,280
J| 68,600
< 34,300
Al 34,300

11 ALS S RAEE = 137,200 139,480 A 2,280
O&OHOHIIGH At & 29 137,200
J| 68,600
< 34,300
Al 34,300

SHHE MHEXNJLMH 23 368,714 380,470 AN 11,756
J| 258,100
< 55,307
Al 55,307

307 glz2+ol & 368,714 380,470 A 11,756
J| 258,100
< 55,307
Al 55,307

11T MISXASEX 368,714 380,470 AN 11,756
OEHHMAE NEXMH 2% 368,714
Jl| 258,100
< 55,307
Al 55,307

g4I OESE 22 47,000 47,950 A 950
J| 32,900
< 7,050
Al 7,050

307 21201 A 47,000 47,950 A 950
J| 32,900
< 7,050
Al 7,050

11T ALSI S RAEE = 47,000 47,950 A 950
OE4LIHIHY 058 =294 47,000
J| 32,900
= 7,050
Al 7,050

SAOHEZXN §EIIsZ3ALS 90,286 90,286 0
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8,064,152
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3,487,856

7,333,
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12,000

,000

12,000

,000

12,000
12,000

,000

H

Al

87,000

21,750
65,250

75,

000

12,000

= M

87,000

21,750
65,250

75,

000

12,000

= M

87,000

87,000

21,750
65,250
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000

12,000

OtSSEX WA (AR L X2l X&)

Z W

658,560
329,280
131,712
197,568

658,
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=z N H

658,560
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HALSI R Rtel X&)

H

658,560
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e - ots=A 58
Ots=X X

SN FH-SA(EN) - MBAY - BES

=
i

2

=

131,712
197,568

= M W

276,576
193,602
41,487
41,487

226,665

49,911

= M W

276,576
193,602
41,487
41,487

226,665

49,911

= W

276,576

276,576
193,602
41,487
41,487

226,665

49,911

=z N H

, 760,732
1,880,366

752,146

, 128,220

3,507,568

253,164

307 glztol &

=z N H

, 760,732
,880,366

752,146

. 128,220

3,507,568

253,164

1A SXAIE 2 =

OXYotsdH Jl=e2gl

OXSotsdH =X &4

OXY0tsdH EQ2% XA

= N H = MW

= MW

, 760,732

,350,056
,675,028

670,011

,005,017

69,720
34,860
13,944
20,916
340,956
170,478
68,191
102,287

3,507,568

253,164

NEOtsdE SAX

J
Pa
1
on

117,600

117,600

307 21201 &

117,600

117,600

x

'l

N

10 Al S XA EHE 2 S

2
OXZOotsHH SAA =

A Ct
— o

117,600
117,600

117,600

KNSAOotsSHEH SAAXM < IHAH|

H

Al

98,640
19,728
78,912

93,700

4,940

307 21201 A

H

Al

98,640

19,728
78,912

93,700

4,940
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2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
Ots=X X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
10 ALSISXAIEEE2EHEX 98,640 0 98,640
OXY0tsdE SAA XA 98,640
< 19,728
Al 78,912
ANEotsde S48 XA 1,868,611 1,570,870 297,741
= 390,023
Al 1,478,588
307 21201 A 1,868,611 1,570,870 297,741
< 390,023
Al 1,478,588
11T ASI S XAEE = 1,868,611 1,570,870 297,741
OXYotsdH s SAH X 1,560,091
< 390,023
Al 1,170,068
OXYotsdH EQ2gE SAH XA 151,200
OXZGotsHEH 2HAH| 157,320
NGotsdEH =AU 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11 ALS S XAEE = 10,000 10,000 0
OXYotsdH SAUS 10,000
ANEotsdH ¢ el X2 13,800 13,800 0
307 glz2tol & 13,800 13,800 0
10 ALSISXAIEEE 22X 13,800 0 13,800
OXNYotsdH ¢ ekl X 13,800
d2HE XA 90,713 91,077 A 364
= 63,499
< 27,214
307 21201 A 90,713 91,077 A 364
= 63,499
< 27,214
11T MISRASEX 90,713 91,077 A 364
ogddlE K& 90,713
= 63,499
= 27,214
QAXNES XL 25,000 20,000 5,000
301 gt d= 25,000 20,000 5,000
01 MI2ZE 6= 25,000 20,000 5,000
oYAXHES XN 25,000
2o A0lEs dEEXS 24,000 84,000 A 60,000
< 7,200
Al 16,800
301 L2 A= 24,000 84,000 A 60,000

- 106 -




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
Ots=X X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

H

Al

7,200
16,800

= M

24,000
24,000

7,200
16,800

84,000

260,000

= W

447,873
313,511
67,181
67,181

436,427

11,446

= N H

447,873
313,511
67,181
67,181

436,427

11,446

= HnH

447,873
447,873

313,511
67,181
67,181

436,427

11,446

= N W

2,800
1,960
420
420

1,400

1,400

= Hn

2,800
1,960
420
420

1,400

1,400

= M W

2,800
2,800

1,960
420
420

1,400

1,400

= N W

25,389
17,771
3,809
3,809

10,044

15,345

= N W

25,389
17,771
3,809
3,809

10,044

15,345

O A
°

02

02

0

>

0

= MW

25,389
25,389

17,771
3,809
3,809

10,044

15,345

H

15,000
4,500

1,000

14,000

- 107 -




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
Ots=X X

SN FH-SA(EN) - MBAY - BES

=

i
2m

Al

10,500

= M

15,000

4,500
10,500

,000

14,000

= M

15,000

15,000

4,500
10,500

,000

14,000

Z W

10,749
7,524
1,613
1,612

,981

8,768

Z W

10,749
7,524
1,613
1,612

,981

8,768

= n

10,749

10,749
7,524
1,613
1,612

,981

8,768

H

Al

519,109

300,000
219,109

,860

AT51

101 1Al

H

Al

230,059

100,900
129,159

,000

20,059

A
- T

0401222 RS
E

OEEAEREHX

on

g

H0

H

Al

230,059

230,059

100,900
129,159

,000

20,059

H

Al

49,100

45,560
3,540

,060

1,040

o
>
m = o =
Im Im
= x
i ol
Ho HO
08 02

m =
Im
£
i
Mo
02

H

H

H

Al

18,300
18,300
18,300
19,000
19,000
19,000
11,800
11,800

8,260
3,540

,290

770

,000

22,990

2,230

1,800

202 04l

H

15,000
7,200

,000

- 108 -




SH: HEEAED
2 04 - OlE=X A
Sl OtS =X X

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

Al 7,800

01 = LH 4 1l 15,000 15,000 0
OEEAEEHNH 29 15,000
= 7,200
Al 7,800

301 et a3 183,200 175,000 8,200
= 117,628
Al 65,572

01 MI2ZE 6= 29,780 23,000 6,780
OLEAERENH 29 29,780
2 14,147
Al 15,633

09 HALAHIEA S 17,800 48,000 230,200
OEEAEEHNH 29 17,800
2 13,400
Al 4,400

1MIIEBELSS 135,620 104,000 31,620
O EAERENH 29 135,620
2 90,081
Al 45,539

307 21201 A 31,750 39,800 A 8,050
2 21,812
Al 9,938

01 922724l 31,750 39,800 A 8,050
OEEAEEHNH 29 31,750
2 21,812
Al 9,938

401 Al HI L =2 Tl 5,000 10,000 5,000
2 3,500
Al 1,500

01 A& HI 5,000 10,000 25,000
OLEAEENH 29 5,000
2 3,500
Al 1,500

405 TtabF S 5,000 22,000 A 17,000
2 3,400
Al 1,600

01 et EFFHSHI 5,000 22,000 A 17,000
OEEAHEHNH 29 5,000
= 3,400
Al 1,600

OE=T AL X 4,736,940 4,182,333 554,607
= 803,611
< 770,637
Al 3,162,692

Ots=SXAIE 23 X& 3,220,418 2,826,748 393,670
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CodEAEn
S0y - os=sEX S8
D OFS=EXAE K&

SN FH-SA(EN) - MBAY - BES

=
i

2

H

Al

471,211

. 749,207

307 21201 A

H

Al

,220,418

471,211

, 749,207

2,826,748

393,670

10 M SXNANEEE2SHEX

OOtsEXIAIE 23]

O S AX

i
g
1
o

OAMIBISXAIES AL

n

Al

= M

,220,418
,921,003

438,163

,482,930

110,160

33,048
77,112

189, 165

2,826,748

393,670

N&ots K&

H

Al

167,460

47,000
110,460

136,100

21,360

307 212t01 &

= M

157,460

47,000
110,460

136, 100

21,360

1A SXAIE 2 =

OAlEots X3

= M

167,460
157,460

47,000
110,460

136, 100

21,360

©
09
S
1]
Ho
02
[=s

= M

22,000

6,600
15,400

44,623

A22,623

307 21201 &

= M

22,000

6,600
15,400

44,623

A22,623

10 AR SAAEHIES2SHEX

ogedla 24

=

22,000

22,000

6,600
15,400

44,623

N22,623

=0}
H
fon
=}
0
IJ
Y
ol
20)
02

= HnH

486,338
194,534
145,902
145,902

486,338

307 glztol &

= N H

486,338
194,534
145,902
145,902

486,338

10 AFRIS XA EHE 23

=
2
OREsS0s 18& 24

= M W

486,338

486,338
194,534
145,902
145,902

486,338




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ots=XNAE 250t K& 50,000 53,650 A 3,650
301 et d s 50,000 53,650 A 3,650
01 MEIEBEZE+06l= 50,000 53,650 A 3,650
OOts=XA4E ES0ts 2HAH| 36,500
OOIS=XAIE Ot +=s0d8HI(Z - 1) 13,500
NEotsd e WM X& 13,800 13,800 0
307 gl2tol & 13,800 13,800 0
11T AS S XAEE = 13,800 13,800 0
OXN<gotsdH WIHwWFH XI& 13,800
OFsS=XNAE JIs2H 193,074 193,074 0
= 96,537
= 48,269
Al 48,268
402 RI2EA=20| M 193,074 193,074 0
= 96,537
= 48,269
Al 48,268
01 It 2 AL E X 193,074 193,074 0
OO0sEXAE JIsEL 193,074
= 96,537
< 48,269
Al 48,268
OlS=XAIE HAZSH 480,000 340,000 140,000
= 432,000
< 33,600
Al 14,400
307 21201 A 480,000 340,000 140,000
= 432,000
< 33,600
Al 14,400
11T M3 SXASEEX 480,000 340,000 140,000
OOtS=XIAIE MAHZ 480,000
= 432,000
= 33,600
Al 14,400
OFs=EXAIE nE2S0 70,000 70,000 0
= 63,000
< 4,900
Al 2,100
307 glz2tol & 70,000 70,000 0
= 63,000
< 4,900
Al 2,100
11T M 2XAIS EX 70,000 70,000 0
Oots=XAE nEsH 70,000




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 63,000

< 4,900

Al 2,100
St{ololiols &H 29 43,850 0 43,850

= 17,540

< 13,155

Al 13,155
307 glz2+ol & 43,850 0 43,850

= 17,540

< 13,155

Al 13,155
10 ALSISXAIEEE2EHEX 43,850 0 43,850

Osttiulof Ol dH=2Z 43,850

= 17,540

< 13,155

Al 13,155
25 X 117,145,291 116,359,803 785,488

= 63,339,888

= 38,916,056

Al 14,889,347
2ns StSAlE DMLY XA 10,000 14,800 A 4,800
301 L2 AF 10,000 14,800 A 4,800
01 MEIBEE 263 10,000 14,800 A 4,800

oY= stsAlE nMHw-H XA 10,000
QIZINEI0IE ESWUAM 288 K& 190,800 190,800 0
307 21201 A 190,800 190,800 0
06 283 190,800 190,800 0

ORIZINEI0IE BE|]uAl B82(0E) XNE 190,800
ESUA S8 & 936,000 936,000 0
301 et d s 936,000 936,000 0
01 MI2EZE 406z 936,000 936,000 0

OEswAt E82 XA 936,000
B0 EXXA 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
11T MISRASEX 20,000 20,000 0

Odlel =00y As 20,000
Heold oelol tdBHEs oty K& 115,000 115,000 0
307 21201 A 115,000 115,000 0
06 2= 115,000 115,000 0

OZ R0t B H3E It 115,000
ESwHA HI|2s5+Y X 486,000 486,000 0




2N
X ZH -
L= B

el

CEEE-PSE
os - OIS=X S
25 N

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

486,000

486,000

486,000
180,000
306,000

486,000

= W

96,850,658
50,117,607
36,690,818
0,042,233

95,737,951

1,112,707

= N H

96,850,658

50,117,607
36,690,818
0,042,233

95,737,951

1,112,707

@5 ZO0for &t

o

= M W

H

=

96.850,658
96,850,658
66,823,476
50,117,607
6,682,348
0,023,521
29,883,246
29,883,246
143,936
125,224
18,712

95,737,951

1,112,707

AN&OIoIE0tsL =X

= N H

7,500,180
13,125,135
2,100,022
2,275,023

18,740,972

A 1,240,792

= N W

17,500,180
3,125,135
2,100,022
2,275,023

18,740,972

A 1,240,792

01 A28 X =0dl=

OAE 0I0I2 Ots& =R

10

= MW

7,500,180
7,500,180

3,125,135
2,100,022
2,275,023

18,740,972

A 1,240,792

ESWAN M X3 A

= M

53,783

16,135
37,648

91,040

N 37,257

307 21201 A

H

Al

53,783

16,135
37,648

91,040

N37,257

10 AZSIAEHE2SH

EF WA HHSE X3 A

H
A

H

Al

53,783

53,783

16,135
37,648

53,783




ARG RS~
M e - ots=EX &

©el: 25 A CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Helold JsEd 20,000 0 20,000
= 20,000
402 IV X201 M 20,000 0 20,000
= 20,000
01 QIZEXIEAIE 2 X 20,000 0 20,000
O0E0IE JDsEA (24, D200l d) 20,000
o 20,000
FOISSANHE Ae2H 350,000 0 350,000
307 QI2t0| ™ 350,000 0 350,000
05 QIZtRES 350,000 0 350,000
ONFA SOIESSANILAEH 29 300,000
O&FHZLZ A2 24 50,000
Helold Exnd tdZHS I X 57,960 0 57,960
307 2Iz2to| A 57,960 0 57,960
06 282 57,960 0 57,960
ONe ol B otNMBHE I 57,960
LABESAY XA 161,910 0 161,910
= 97,146
&< 32,381
Al 32,383
301 et A= 48 572 0 48,572
= 29,144
& 9,714
Al 9,714
01 Al B & X 46 2 48 572 0 48,572
AANEE B2 48,572
= 29,144
& 9,714
Al 9,714
307 2Iz2to| & 113,338 0 113,338
= 68,002
== 22,667
Al 22,669
10 MM SAANEEHESIGHEX 113,338 0 113,338
O2LANER 2HXS 113,338
= 68,002
= 22,667
Al 22,669
el old XeFHN SAXA 293,000 0 293,000
& 56,700
Al 236,300
307 giztol A 293,000 0 293,000
& 56,700
Al 236,300




ARG RS~
M e - ots=EX &

Sel: 2% X EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T MISAASEX 293,000 0 293,000
oogoly a3y g4 X 293,000
< 56,700
Al 236,300
OEols SZMHLEAS 100,000 0 100,000
307 21201 A 100,000 0 100,000
11T MISXASEEX 100,000 0 100,000
OO0l S3MLAEY 100,000
ERNESEL PN 955,000 985,000 /30,000
< 2,000
Al 953,000
SITHOE Ol =40 At ¢=8l X 900,000 960,000 A 60,000
301 LAz 900,000 960,000 A60,000
01 MI2ZHE 6= 900,000 960,000 A 60,000
OAITOL Ol& S40t I 2=sHl XA 900,000
SMot =4 =ot=X& 30,000 0 30,000
301 et d = 30,000 0 30,000
01 MEI2EZE 405z 30,000 0 30,000
OSMot =2 =ot= XA 30,000
SNMTEE ASIEZRD =4 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
02 HAFHAANHEEE 15,000 15,000 0
OsMZASH M Z2DI =4 5,000
OSMFHXNE ALY 10,000
OOl Dl E2HME 228 29 10,000 10,000 0
< 2,000
Al 8,000
307 glz2tol & 10,000 10,000 0
< 2,000
Al 8,000
11T M SXAISEEX 10,000 10,000 0
OO0l D ESHY 2528 29 10,000
< 2,000
Al 8,000
Fda4E B35 84 3,219,082 2,901,928 317,154
2 444,125
J| 398,341
< 209,310
Al 2,167,306
HAE Z3HHA 175,000 175,000 0
a4 2stas N 30,000 30,000 0




<

n0

Kio

Hl w

157,450

H3r
Wikd
RIS

30,000
30,000

15,000

15,000

15,000

100,000

100,000
100,000

30,000

30,000
30,000

763,800

6,000

6,000
6,000

636,000

636,000

636,000

2,800

0l &t o

30,000
30,000
30,000

15,000

15,000

15,000
15,000

100,000

100,000

100,000
100,000

30,000

30,000
30,000
30,000

921,250
404,125

i

62,150
107,900

347,075

H

Al

6,000

6,000
6,000
6,000
4,000
2,000

636,000

fir

318,000
95,400

222,600

H

Al

636,000

fir

318,000
95,400

222,600

H

Al

636,000

636,000

318,000
95,400
222,600

i

H

Al

2,800

Jl

1,400
1,400

Al

307 21201 A

Kq
iz
D
<0
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A
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@l g X

307 glztol &

Kq
!
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<
R0
i

307 21201 &

Ki
iy
&l

<0
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<
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30
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Klo
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<
R0
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o
el
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o0
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<d
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307 glztol &
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D
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A
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2N

M dAaE B35 24
el Ead Bs2e| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 2,800 2,800 0
J| 1,400
Al 1,400
02 ItE A AMHEE 2,800 2,800 0
OE=A 449 FHARS 29 2,800
J| 1,400
Al 1,400
AW NZSM U SDEUYDS 6,250 6,250 0
< 5,000
Al 1,250
307 21201 A 6,250 6,250 0
< 5,000
Al 1,250
02 LAFAAFEX 6,250 6,250 0
OFAE AZGM & StuZHANL WS 6,250
< 5,000
Al 1,250
FAaE RSIZTAE 24 12,750 12,750 0
= 6,375
Al 6,375
307 glz2tol & 12,750 12,750 0
= 6,375
Al 6,375
02 It HAHEE 12,750 12,750 0
OFAYE FoSIZAH 294 12,750
= 6,375
Al 6,375
A9 SEXNKHAH 22 85,500 80,000 5,500
J| 42,750
Al 42,750
307 glz2tol & 85,500 80,000 5,500
J| 42,750
Al 42,750
02 HAFHAANGEEX 85,500 80,000 5,500
O&EFA B4d SEXNE MA=2E 85,500
J| 42,750
Al 42,750
stu=Ey fgszly 249 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 It S AMHEL 10,000 10,000 0
ORAINBAFZA X AMS 10,000
dad SEXE 25,500 0 25,500
J| 18,000
< 3,750
Al 3,750




ARG RS~

M HAd 25 84
el Ead Bs2e| (&)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 L2 A= 24,900 0 24,900
| 17,580
< 3,660
Al 3,660
01 MEIBEE 2063 24,900 0 24,900
o&¥AH EEXNH 24,900
J| 17,580
< 3,660
Al 3,660
307 21201 A 600 0 600
| 420
= 90
Al 90
02 It S AIHE L 600 0 600
odAd EEXNA 600
| 420
< 90
Al 90
Sty HAUSHXNATZ2RIBLSY 67,000 0 67,000
2 46,900
Al 20,100
307 glz2tol & 67,000 0 67,000
= 46,900
Al 20,100
02 It MAHEE 67,000 0 67,000
Ostus FAUSEANIZZONY 29 67,000
= 46,900
Al 20,100
HAE SUX DRI 29N 65,700 0 65,700
= 32,850
Al 32,850
307 21201 A 65,700 0 65,700
= 32,850
Al 32,850
02 LB AAFEX 65,700 0 65,700
O3AE SN Z20d 2EXE 65,700
= 32,850
Al 32,850
oW M2 NHE D2y e 3,750 0 3,750
= 3,750
307 glz2tol & 3,750 0 3,750
= 3,750
02 It M AHE L 3,750 0 3,750
OFAE A2 MNHYME =218 N 3,750
= 3,750




_‘f’_}\-| 0:‘/\-13:4 (S
Mz HAE B 84
el HAEAIL 2T 8 CEEEED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
HAEAE 2 XA 160,980 123,660 37,320
= 40,000
J| 60,490
Al 60,490
ZTHAY AL T2 2AX 13,300 15,980 ~2,680
J| 6,650
Al 6,650
307 2iz2to| & 13,300 15,980 N 2,680
J| 6,650
Al 6,650
02 QIZ2IA AAIE E X 13,300 15,980 N 2,680
OZ2Z2FAY LA T2 AN 13,300
J| 6,650
Al 6,650
HAULHAANE NS A BEXI KR 97,680 97,680 0
J| 48,840
Al 48,840
307 QI2+0l & 97,680 97,680 0
bl 48,840
Al 48,840
02 AI2AtAMAIE E =X 97,680 97,680 0
OFAE LAY XNE=X XX & 97,680
J| 48,840
Al 48,840
HAaGL-EAE 2HEARYS 2 10,000 10,000 0
J| 5,000
Al 5,000
307 QI2+0I & 10,000 10,000 0
J| 5,000
Al 5,000
02 DIZFEAAIRE E X 10,000 10,000 0
OFAELEANAE 2HRARSE 29 10,000
J| 5,000
Al 5,000
S0 Ols.3A4E 4 0FNE 40,000 0 40,000
= 40,000
307 2izto| A 40,000 0 40,000
= 40,000
02 QIZIA AAIE E X 40,000 0 40,000
OO Ols.2A4E 4 oHNE 40,000
= 40,000
HAEAIAE QI2t2[E 1,869,852 1,747,468 122,384
J| 275,701
=} 101,410
Al 1,492,741




M H8ELAED
MM HAH ©H5 SA

[ el sl S o

o HAHAL LIt g (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FaEag=sIdH 29 N& 153,700 103,700 50,000
< 18,700
Al 135,000
307 glz2tol & 153,700 103,700 50,000
< 18,700
Al 135,000
05 RIZteE = 153,700 103,700 50,000
OFA~Y dE=XNEH 22X 153,700
< 18,700
Al 135,000
a4 Hd23dH 29 X2 150,900 140,000 10,900
J| 75,450
< 22,635
Al 52,815
307 21201 A 150,900 140,000 10,900
J| 75,450
< 22,635
Al 52,815
05 RIZt2IEt = 150,900 140,000 10,900
OFAY H23dH 29 X& 150,900
J| 75,450
< 22,635
Al 52,815
e Favdy 29 292,540 286,668 5,872
J| 146,270
< 43,881
Al 102,389
307 glz2tol & 292,540 286,668 5,872
J| 146,270
< 43,881
Al 102,389
05 RIZHRIE 3 292,540 286,668 5,872
oYl B3A4UdEH 29 292,540
J| 146,270
< 43,881
Al 102,389
s d2EdEH 22 107,962 107,500 462
J| 53,981
< 16,194
Al 37,787
307 21201 A 107,962 107,500 462
J| 53,981
< 16,194
Al 37,787
05 RIZt2IE = 107,962 107,500 462
Os&I adEdH 22 107,962
J| 53,981
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SH: HEEAED
MY HAUW B35 84

SHel: HAUAL BIRAE

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
[ 16,194
Al 37,787
HAGALE Q29 E 22H 1,164,750 1,109,600 55,150
307 2iz2to| & 1,164,750 1,109,600 55,150
05 QIZ2tRE 2 1,164,750 1,109,600 55,150
OFAEAIAL QI2tE 2 1,164,750
0O UEAESEZ 2Y 232,050
Q@ANEFAERSON &Y 182,700
QONFTHAUEURSOYE 29 171,150
QEN=SHALAEHESOE 2Y 165,370
OSNEAUEURSOYE 29 165,480
QIFANEFALAENKLAEH 2 248,000
PNERPERY P 92,000 92,000 0
HAGANAE A5 L B3 A 80,000 80,000 0
401 Al HIZL 201 Y| 80,000 80,000 0
01 Al&H| 80,000 80,000 0
OFAEAYE ZAH 80,000
Q@FAUELHALE & NRHEH 25 80,000
HAEAS ZH KRR 12,000 12,000 0
405 XH&HF S HI 12,000 12,000 0
01 XAt = EF S HI 12,000 12,000 0
OFAEAILE &Hl A 12,000
CHe 3l AbSl Xl 2 1,169,235 998,232 171,003
J| 532,388
= 208,426
Al 428,421
Ct2 3t A3 X & 1,169,235 998, 232 171,003
J| 532,388
o 208,426
Al 428,421
CIE3tE Al EE2 X 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
02 DIZHE AAIRE E X 10,000 10,000 0
oL X2 s & FHHoH2+4 0l 10,000
CIE3IEs XN|HdH 29X 451,862 471,700 A 19,838
J| 316,303
& 45,180
Al 90,379
307 2iz2to| & 451,862 471,700 A 19,838
J| 316,303
& 45,180
Al 90,379
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AN 0 aE D
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T MISAASEX 451,862 471,700 A 19,838
ohU=sits XN3HWH 2EXNA 451,862
J| 316,303
< 45,180
Al 90,379
Ct2EXNJLEH SMA SX+E 6,480 5,880 600
< 1,944
Al 4,536
307 21201 A 6,480 5,880 600
= 1,944
Al 4,536
10 ALl SXNAIEEE2EHEX 6,480 5,880 600
OURINEXNJALEH SAXN EXN+E 6,480
< 1,944
Al 4,536
G2 s JAHEH SAE XA 24,314 23,623 691
< 9,726
Al 14,588
307 glz2tol & 24,314 23,623 691
< 9,726
Al 14,588
10 AL SXAIEHE 2 H EX 24,314 23,623 691
OC=2aINFXNFHAH SAtHA X 24,314
< 9,726
Al 14,588
Ch2stEXNJHEH = 20,400 9,600 10,800
201 et 20,400 9,600 10,800
01 At 22l 20,400 9,600 10,800
OU=2sIIEXNALH dX= 20,400
Ch23ts HEde2dn 23 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 QItFAAHE X 5,000 5,000 0
OU=3IIE HEZELH 29 5,000
=23t FEHE €0 U280 &M 8,000 8,000 0
201 €24l 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
O23te F¥Es 80 U2z M 5,000
301 et a = 3,000 3,000 0
09 &AL HI B &S 3,000 3,000 0
O=ste 82 €0 G20t N 3,000
Ch23ts 8= nsXE 27,000 27,000 0
< 10,800

- 122 -




FM: HEFEAE W
PSRN E}_§H\P§IXI
chel: OEtAE K& (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 16,200
307 21201 A 27,000 27,000 0
< 10,800
Al 16,200
11T AISI S XA E X 27,000 27,000 0
ot=sItE =20 W& 27,000
< 10,800
Al 16,200
Ct280ts 90 € usi& 83,213 83,213 0
J| 58,249
< 8,321
Al 16,643
307 21201 A 83,213 83,213 0
J| 58,249
< 8,321
Al 16,643
TASISXIAIEE & 83,213 83,213 0
OUIaI=E A & WEXA 83,213
| 58,249
< 8,321
Al 16,643
ChE3NERNE O SHHAM 32,500 32,484 16
| 22,750
< 3,250
Al 6,500
307 glz2tol & 32,500 32,484 16
| 22,750
< 3,250
Al 6,500
11T AISI S XA E = 32,500 32,484 16
OUZsIIEXE 0ISHNH A 32,500
J| 22,750
< 3,250
Al 6,500
C23td eSS HAAY 21,400 21,400 0
< 8,560
Al 12,840
307 21201 A 21,400 21,400 0
< 8,560
Al 12,840
11 AMSSIAIEE X 21,400 21,400 0
OUZaIE d==d LAY 21,400
= 8,560
Al 12,840
NGHy 280ty 22 43,007 42,188 819
< 17,203
Al 25,804
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SA: OEEAED
dM: O23tAte XA
S9l: CHRSHAMSI X2 (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 43,007 42,188 819
< 17,203
Al 25,804
11T MISXASEX 43,007 42,188 819
OXYdH Ct2sotssd 29 43,007
< 17,203
Al 25,804
ChE3ots DELS0l At 108,000 0 108,000
< 32,400
Al 75,600
301 et A=z 108,000 0 108,000
< 32,400
Al 75,600
01 AR 2Z A5l 3 108,000 0 108,000
OU=E23IIE DEULS0l A Y 108,000
< 32,400
Al 75,600
ChE3 =8 S XA 30,000 0 30,000
< 9,000
Al 21,000
307 glz2tol & 30,000 0 30,000
< 9,000
Al 21,000
11T M SRAISE EX 30,000 0 30,000
OU=3 =28 2SN ALY 30,000
< 9,000
Al 21,000
ZE0IA MNgEHNSE 16,800 19,900 A 3,100
< 6,720
Al 10,080
307 glz2tol & 16,800 19,900 A 3,100
< 6,720
Al 10,080
11T MISRASEX 16,800 19,900 A 3,100
OZE0IYUX HHEHWS 16,800
< 6,720
Al 10,080
ZE0I2UR S - HAMHIA 48,546 47,670 876
J| 33,982
< 4,855
Al 9,709
307 21201 A 48,546 47,670 876
J| 33,982
< 4,855
Al 9,709
11 ALS S XAEE = 48,546 47,670 876
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AN 0 aE D
Bu: (2sAMsXE
&S OG2atAte X fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
OZE0I2UX & - HIMHIA 48,546
J| 33,982
< 4,855
Al 9,709
ZEO0I2 A et sHHI X & 10,000 0
< 5,000
Al 5,000
301 LB A3 10,000 0
< 5,000
Al 5,000
01 MI28E +06l= 10,000 0
OZE0I2A tHeh stHI XA 10,000
=) 5,000
Al 5,000
ZEOIYUX SSUE SHHEXZ 44,400 0
=) 17,760
Al 26,640
307 21240 44,400 0
< 17,760
Al 26,640
11T M XA EX 44,400 0
OZEOIOK SSHE sAHSK Y 44,400
< 17,760
Al 26,640
OIFHdESAE XA 31,000 31,000
) 12,400
Al 18,600
402 RIZEX20l ™ 31,000 31,000
< 12,400
Al 18,600
01 A=A EX 31,000 31,000
O0=HEESANA JIs22 31,000
< 12,400
Al 18,600
ZSMH0I=0HE BESANE 2EXH 144,433 10,719
J| 101,104
< 14,443
Al 28,886
307 glztol ™ 144,433 10,719
J| 101,104
< 14,443
Al 28,886
11 ALS S XAEE = 144,433 10,719
ZATH0IFHE BESAE 2SN 144,433
J| 101,104
= 14,443
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AN 0 aE D
dM: O23tAte XA
chel: OEtAE K& (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 28,886
ZLIIH0IFHEESAIE AN SX=E 2,880 2,460 420
< 864
Al 2,016
307 glz2tol & 2,880 2,460 420
< 864
Al 2,016
10 AL SXAIEEE 2 HEX 2,880 2,460 420
OZZEIH0FTHLEESAIE EMKF SXE 2,880
= 864
Al 2,016
HE2LAIH(HEEAED) 83,800 69,984 13,816
Jl2ddl(e8sAdE) 83,800 69,984 13,816
Jl2dul (g ®A4Amt) 83,800 69,984 13,816
201 LBt2E| 43,600 35,544 8,056
01 At 22l 43,600 35,544 8,056
oget+=EH| 19,000
ozg=+¢ 12,000
o=l 12,600
202 odl 36,000 30,240 5,760
01 SLHOIYI 36,000 30,240 5,760
OJIlegdRF=8 0l 36,000
203 YR =&l 4,200 4,200 0
04 REN2ELRZ=LH 4,200 4,200 0
ORN2IYSF=AHI 350,000& 128 4,200
Heas(HgeA) 54,000 0 54,000
WEAHAXES (AL HLAED) 54,000 0 54,000
OEZHII= 54,000 0 54,000
702 JISEEZS 54,000 0 54,000
(O RIE=RSE= 54,000 0 54,000
oxggdIIZ=H 54,000
HEES(=ZS0S2UUOIIE Ald2e3H) 66,684 46,384 20,300
HWEAHAXE(=FE0SLUOIIIE AlZ 223 E) 66,684 46,384 20,300
SXE0SLUHOIIHE 2F ANL2elsa" 8&3 66,684 46,384 20,300
309 MEZ 41,684 38,884 2,800
01 SAL- SHINTEZ 41,684 38,884 2,800
O=ZE20IS2UHOIIIE 29 Algaelsd A
=2 41,684
@23t S 41,684
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